Worksheet

POLYNOMIALS 2

1. Work out:

a) (x? —2x® +3x—4)-2(x* —2x> +3x-2)=
b) (x® —x+2)-3(x? +2x —3)-2(x +1)* =

) —2(@x* = x® +5x)-3(x2 - 2)x? + 2) =

d) —5x%y-(x%y —3xy? + 4xy - 2) =

e) (x3 —5x? —2}(x% +5)=

) 3Bxy)-@x2y*) - (@2x2y3).(—4xy?) =

g) (X+Yy)(x2 —2xy +y?) =

2. Factorise the following expressions:
a) mn—4m? -5m=

b) 5xy* +10xy +5x =
c) 12x%y* -8y’x? =

d) x*-25x% =

e) 4xax’ + x% =

f) x(x-2)+x(x-1)=
g) x*—12x% +36

h) 100 - 9a? =

i) 25x%y —y =

i) 16026 -95b =

k) 3a® -27ab* =

3. Fill in the gaps:

a) ( +2)=x*+ +
b)(x— )= -6x+9
c)(m )= —2mn+
d) (x— Jx+ )= -36
e) ( + )2=16 +9t?
fy( -3wf=4- +
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SOLUTION
1. Work out:
a) (x5 —2x3 +3x—4)-2[x* —2x3 +3x - 2)= x5 ~2x3 +3x — 4 - 2x* + 4x —bx + 4 =

x° —2x* +2x3 - 3x
b) (3 - x+2)-3(x? +2x—3)-2(x + 1 = x3 —x+2-3x% —6x +9-2(x? + 2x +1)=

=x3—x+2-3x%—6x+9-2x% —4x-2=x>-Bx* —11x+9

c) —2(2x* - x3 +5x)-3(x2 - 2Jx? + 2) = —4x* + 2x3 ~10x - 3(x* - 4)= —7x* + 2x3 ~10x + 12
d) —5x%y - (x%y — 3xy? + 4xy - 2) = —5x*y? +15x3y3 - 20x3y2 - 20x3y? + 10x%y

e) (x3 ~5x% —2}(x? +5)= x5 —5x* — 2x? + Bx® —25x2 ~10 = x5 — 5x* + 5x3 - 27x% ~ 10

f) (3xy )}(2x%y* ) - (2x3y3 ).(-4xy? ) = 6x3y° + 8x3y° = 14x3y°

g) (x+y)(x?-2xy +y?)=x>—2x%y + xy? + xy —2xy? +y3 = x> = xPy - xy? +y?

2. Factorise the following expressions:
a) mn-4m? -5m =m(n - 4m-5)

b) 5xy? +10xy + 5x = 5xly? + 2y +1)=5x(y + 17
c) 12x3y* - 8y>x? = 4x%y3(3xy - 2)

d) x*-25x2 = xz(x2 - 25): x2(x +5)(x - 5)

e) 4x*+4x3 + x2 = x2(4x2 + 4x +1)= x2(2x +1F
f) x(x-2)+x(x -1)=x(x -2 +x-1) = x(2x - 3)
g) x*—12x2 +36 =(x2 - 6f

h) 100 - 9a? = (10 + 3a)(10 - 3a)

i) 25x% —y = y[25x2 —1)= y(5x +1)(5x - 1)

j) 16a% - 9b =b(16a2 - 9)=b(4a + 3)(4a-3)

k) 3a®—27ab* = 3ala? - 9b*)=3a(a + 367 fa — 3b2)

3. Fill in the gaps:

a) (x+2)°=x®+4x+4
b) (x-3P=x?-6x+9

c) (m—-n)® =m? —2mn +n?
d) (x-6)(x+6)=x%-36
e) (4+3t )% =16+121+9+°
f) @2-3wf =4-24w + 9w?



